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ﬁg TREOBEBOTILEHOKRES TERFEOHBEILNOKRES TEFEOBRBDOEILHDOKRES TREOHBSSLADKRES
7 100kN/mM%E#8Z % — - ~ — —|3mZEBABD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ B - ~ — — —
zhLst — -~ = —| FhLst -~ = — — st — - ~ — — | st - ~ — — —
2 100kN/mM%E#BZ 5 — - ~ — —|3mEBZBH| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
ZhLst — - ~ — —| Fh st - ~ — — — Fnst — - ~ — —| st - ~ — — —
3 100kN/mM%E#BZ 5 — - ~ — —|3mEB2BH| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3mZE#BZD - ~ — — —
st 1.00 | 0.00 ~ 756 96.79 | FnLS | 000 ~ 766|215 11.49 ThList 1.00 | 5.00 ~ 10.00 96.79 | =hLH | 5,00 ~ 1000| 2.15 11.49
4 100kN/mM%#8Z % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 000 ~ 715 90.86 | =S | 000 ~ 7.15| 2.44 13.04 st 1.00 | 5.00 ~ 10.00 90.86 | =nLH | 5,00 ~ 1000 2.44 13.04
5 100kN/mM#E{BZ % — - ~ — —|3mZEBAB| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%E#BZ D - ~ — — —
st 1.00 | 000 ~ 715 90.84 | =S | 000 ~ 7.15| 2.44 13.04 st 1.00 | 5.00 ~ 10.00 90.84 | =hLH | 5,00 ~ 1000 2.44 13.04
P 100kN/mM%E#BZ 5 — - ~ — —|3mEB2B| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3mZE#BZD - ~ — — —
zhLst 1.00 | 0.00 ~ 7.35 93.78 | =nst | 0oo ~ 735|244 13.04 Fnst 1.00 | 5.00 ~ 1050 93.78 | NS | 5,00 ~ 1050 2.44 13.04
7 100kN/mM%E#BZ % — - ~ — —|3mZEBAD| — ~ — — — | 100kN/m#%#8Z% % — - ~ — — | 3m%EHBZ B - ~ — — —
ThLlst 1.00 | 000 ~ 735 93.76 | Fhst | 000 ~ 7.35| 2.44 13.04 TnList 1.00 | 500 ~ 1050 93.76 | FhLst | 5,00 ~ 1050\ 2.44 13.04
P 100kN/MZ#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FEZ 5 - ~ — — —
ThLlst 1.00 | 000 ~ 719 91.41 | Fhst | 000 ~ 719|249 13.31 TnList 1.00 | 500 ~ 1050 91.41 | Fhst | 5,00 ~ 1050 2.49 13.31
9 100kN/mM%EZ 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8% % — - ~ — — |3m#%FHBZ 5 - ~ — — —
ThLlst 1.00 | 000 ~ 719 91.40 | Fhst | 000 ~ 719|249 13.31 TnList 1.00 | 500 ~ 1050 91.40 | FhLst | 5,00 ~ 1050 2.49 13.31
10 100kN/ Mm% 25 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 7.08 89.85 | =nst | 0oo ~ 708 1.93 10.54 FhLst 1.00 | 6.00 ~ 9560 89.85 | =Nt | 5,00 ~ 9.60| 1.93 10.34
11 100kN/ Mm% Z 5 — - ~ — — |3mEBZRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m#%FHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 7.05 89.50 | =ns | 000 ~ 7.05)| 1.85 9.91 FhLst 1.00 | 6.00 ~ 9.00 89.50 | #nLst | 5,00 ~ 9.00| 1.85 9.91
19 100kN/MZ#8Z % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8 %% — - ~ — — |3m#%EEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 6.56 82.69 | =ns | 0.00 ~ 0.00| 1.66 8.91 ZhnLst 1.00 | 6.00 ~ 800 82.69 | #nLst | 5,00 ~ 800 1.66 8.91
13 100kN/ Mm% Z 5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8 %% — el — — |3m#%FHEZ 5 - ~ — — —
FhLst 1.00 | 0.00 ~ 687 87.02 | =nhdst | 0oo ~ 000\ 1.71 9.14 ZhLst 1.00 | 6.00 ~ 8560 87.02 | =St | 6,00 ~ 860 1.71 914
14 100kN/ Mm% A5 — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%FHEZ 5 - ~ — — —
st 1.00 | 0.00 ~ 6.64 83.84 | =ns | 0oo ~ 664 1.73 9.24 FhnLst 1.00 | 6.00 ~ 800 83.84 | #nLst | 5,00 ~ 800 1.73 9.24
100kN/ Mm% Z 5 ~ 3mEEZD ~ 100kN/ Mm%z 5 ~ ImEEZD ~
Thsn ~ ZnLst ~ ZhLst ~ Zzhust ~




